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1. With the data in the given figure, AOFE = AODC by which property?
F E

C D

(i) ASA Congruency (ii) not congruent (iii) RHS Congruency (iv) SSS Congruency (v) SAS Congruency

2. In the given figure, which pair of triangles are not congruent ?
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I I | |
fig 3 fig 4
| |
| |
figl fig2

(i) fig4 (i) fig3 (iii) figl (iv) fig2

3. With the data in the figure, AEHF = AGHF by which property?
E

F G

(i) not congruent (ii) SAS Congruency (iii) RHS Congruency (iv) ASA Congruency (v) SSS Congruency



4. With the data in the figure, AKLO = ALKP by which property?
N M

K L

(i) not congruent (ii) SSS Congruency (iii) RHS Congruency (iv) SAS Congruency (v) ASA Congruency

5. With the data in the figure, AGOH = AJOI by which property?
J | |
[

G H

(i) SAS Congruency (ii) ASA Congruency (iii) not congruent (iv) SSS Congruency (v) RHS Congruency

6. With the data in the figure, AEFH = AGFH by which property?
E

F G

(i) ASA Congruency (ii) SSS Congruency (iii) not congruent (iv) SAS Congruency (v) RHS Congruency

7. With the given data in the figure, ATI) = AS]I by which property?
H

| J
(i) RHS Congruency (ii) SSS Congruency (iii) ASA Congruency (iv) SAS Congruency (v) not congruent



8. In the given figure, which of the following is true?

[

(i) AILK = AJKI (ii) AIKL = AlJK (iii) AIKL = AIK] (iv) AILK = AlJK (v) AIKL = AKIJ

9. In the given figure, ABCD = ATSR. Which of the following are true?

a) LB = LR
b) LC = LS
c) CD=SR
d) CD =TS
e) LD = LR

B
T
A |
C D
(i) {b,ce} (i) {a,b,c} (i) {ad,e} (iv) {d,c} (v) {ab}

10. With the data in the figure, AGOH = AIOJ by which property?

] |
\\%//
G H

(i) ASA Congruency (ii) RHS Congruency (iii) not congruent (iv) SAS Congruency (v) SSS Congruency

11. With the data in the figure, ABDE = ADBC by which property?
E D
B C

(i) SSS Congruency (ii) RHS Congruency (iii) not congruent (iv) SAS Congruency (v) ASA Congruency




12. With the data in the given figure, AOPR = AQRP by which property?
Q

0] P

(i) RHS Congruency (ii) not congruent (iii) SSS Congruency (iv) ASA Congruency (v) SAS Congruency

13. With the data in the figure, AlJL = AMKL by which property?
|

(i) SAS Congruency (ii) ASA Congruency (iii) SSS Congruency (iv) RHS Congruency (v) not congruent

14. With the data in the figure, AOPS = AOQT by which property?
T

O P

(i) SSS Congruency (ii) not congruent (iii) RHS Congruency (iv) SAS Congruency (v) ASA Congruency



15. With the data in the given figure, ADEG = ADFG by which property?
D

S

H
G F

m

(i) ASA Congruency (ii) not congruent (iii) RHS Congruency (iv) SSS Congruency (v) SAS Congruency

16. With the data in the given figure, AMON = ANPM by which property?

o
—
o

=

N

(i) RHS Congruency (ii) ASA Congruency (iii) not congruent (iv) SAS Congruency (v) SSS Congruency

17. With the data in the figure, AAED = ABEC by which property?

W)
=]
m
w
(]

(i) not congruent (ii) SSS Congruency (iii) ASA Congruency (iv) RHS Congruency (v) SAS Congruency

18. With the data in the figure, ABEC = ABED by which property?

AN

[f]
m
L’

(i) RHS Congruency (ii) SAS Congruency (iii) SSS Congruency (iv) ASA Congruency (v) not congruent



19. With the given data in the figure, ACDE = AEFC by which property?
F E

-

C D
(i) ASA Congruency (ii) RHS Congruency (iii) SAS Congruency (iv) not congruent (v) SSS Congruency

20. With the data in the given figure, ALMP = ALNO by which property?
L

M N
(i) SSS Congruency (ii) RHS Congruency (iii) not congruent (iv) ASA Congruency (v) SAS Congruency

21. Identify the property by which the two given triangles are congruent

C S
/é{l\ N
i 1 i 1
I I
D E T ]

(i) ASA Congruency (ii) RHS Congruency (iii) SAS Congruency (iv) SSS Congruency

22. Identify the property by which the two given triangles are congruent
A Q
1 1
B R S

(i) SSS Congruency (ii) RHS Congruency (iii) ASA Congruency (iv) SAS Congruency

23. With the given data in the figure, ALKN = AMJN by which property?
L K

-

| J M

(i) SSS Congruency (ii) ASA Congruency (iii) SAS Congruency (iv) RHS Congruency (v) not congruent



24. With the data in the figure, AAOB = ACOD by which property?
D C

A B

(i) SSS Congruency (ii) not congruent (iii) RHS Congruency (iv) SAS Congruency (v) ASA Congruency

25. With the data in the figure, ABDE = ABDC by which property?
E

c

(i) SAS Congruency (ii) SSS Congruency (iii) not congruent (iv) ASA Congruency (v) RHS Congruency
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